Expanded Form of Numbers j

. Write the expanded form of 348

Answer:

.500+20+6=

Write the number:

. Tick the correct expanded form of 762
e 700 + 60 + 2 ]
o 600+70+2 )
e 700+20+6 |

. Match the number to its expanded form:

e 295 100+0+9

e 830 200+90+5

e 109 800+30+0
. Fill in the blank:

732=700+___ +2
.H:4 T:5 O:6

Write in expanded form:

. Circle the expanded form of 403

e 400+0+3 \' |
°©4+3 _J
e 40+3 )

. Write the number:

600 +50+9 =




—

9. Choose the correct number:
Expanded formis 900+ 0 + 1

)
)

e 910 \‘

e 900 -

10. Beads on abacus:

Qoo o oD D o

Write the expanded form:

11. Write the expanded form of 100

Answer:

12. Complete the pattern:
e 100=100+0+0
e 200=200+0+0

e 300 =

13. Write in short form:

700+ 60+ 8 =

14. Fill in the blanks:

480 = + +

15. Expanded form of 999

Answer:

16. Tick all correct expanded forms of 615
e 600+10+5 |

e 500+10+5 |

e 600+ 15 ]




